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1 /647 X 4850 = 26 §3,4L7 X 4,580 =
2 4,058 X S46 = 27 70,347 X 7,34/ =
3 3,685 X 76 = 28 &4,/ 70 X 7,206 =
4 7,684 X (5L = 29 72,460 X 6,23/ =
5 7,/ 23 X /56 = 30 /47 LE X b, 45/ =
6 3,078 X $857 = 31 68,237 X 7L,/ 54 =
7 4,357 X 6768 = 32 36,780 X 40,067 =
8 7,476 X /&6 = 33 /6,7RE X /7,382 =
9 6,377 X /LT = 34 S#4,607 X L0468 =
10 /337 L X 70/ = 35 36,8574 X 60,2/ 4 =
11 6,04/ X 7,464 = 36 74,537 X L3456 =
12 7,438 X 8,536 = 37 $/,8507 X /6,374 =
13 7,785 X 2,563 = 38 L7475 X6/, T7HS =
14 X,60/ X L,/ &84 = 39 60,34 X L/,3885 =
15 5,07/ X /,077 = 40 §6,320 X 72,507 =
16 4,527 X &b,452 = Ml 7/72,384 X 7/,8785 =
17 5,774 X 7,760 = 2 §4L,0/5 X 45,387 =
18 6,774 X 7,256 = 3 5&5/,346 X 4,725 =
19 §,/70 X 6,58/ = 4l 50/,347 X 36,5850 =
20 7,854 X 3,87/ = 45 £76,7/8 X 30,746 =
20 34,745 X 2,756 = 46 LO4, 7686 X /5,738 =
2 £5,730 X 4,870 = 4711 /60,546 X 37,286 =
28| 5, 74L X 7,/40 = a8 /77,0853 X R3,58/ =
24| £2,036 X /,307 = 9 75,3856 X 30,46/ =
25 58,740 X 85,747 = 5 743,086 X 48,7685 =
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1 6,557,274 + 7/8 = 26 S5L3,LE5 /443 5,747 =
2 [ H00, ALY + 376 = 27 586,687,648 7,/ 84 =
3 753,350 + /70 = 28 LEL,L/O543 5,45/ =
4 4,576,050 + . 29 30,067,3/ % L,/ E4 =
5 L, 3L7,533 + 56/ = 30 /73,807,066 4,/ 77 =
6 3,425,058 + 574 31 L 4E7,743,730 76,5/0 =
7 /367 3,4850 + 420 = 32 /70,720,770 /0,845 =
8 303,736 + /7L = 33 /383,777,877 385,/ 77 =
9 778,485 + /73 = 34 5,4553,778,687 65,207 =
10 4,3/7,778 + 6575 35 5,070,745,5/7 56,707 =
11 /L3 T, 344~ 3,077 = 36 /346,505,000 42,8560 =
12 /3,575,046 + /,585L = 37 3,762,/ 37,304 76,/ 52 =
13 L, 5/ 7,258 ~ /,70L4 = 38 3,6567,546,0L0 37,540 =
14 50,/ 43,05/ + 2,4/3 = 39 L, 8LL, 605,633 £E8,/ 77 =
15 553,366,385 + &6,4/5 = 40 437,70/,/70 L3,570 =
16 /EHEESEO + 3,7 /4 = 41 3,586,36/,47 R /O 4LS =
17 /0,700,647 ~ 6,/83 = 42 §5,672,538,385 L6E,7857 =
18 5,488,476 + /, 8542 = 43| 4L,006,772,360 42,5808 =
19 7,277,573 = 4,70/ = 4| L7,L857,468,67 4 5/,874 =
20 45,8/6,360 + 5,034 = 45 /4,788, LL3,37 4 /5,704 =
20 478,773,£/7 = 5,8§37 = 46| L0, LL/,L3E,L50 73,8785 =
22 E7, 874,747 + L,067 = 411 64,363,057,/ 78 585,723 =
23| /77,647,674 = L, 704 = 48 /7,5L6,6L4,6/ 6 57,7856 =
28| /70,772,334 = X754 = 49 7,56%4,/7/,557 $L,707 =
25 36,034,625 + /, 545 = 50| L5,/76,554,34L 70,5/ 7 =
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No 1 2 3 2 5 6 7 8 9 10

1 5,436 5,820 §. 4/ 6 5,096 /, 56 2,307 2,584 2,706 5,8/ 9 5,276
2 7,629 2,/ 7Y 2,572 -7,3/92 7,85/ 3,7 24 2,856 5 2,763 /L2720 - 7,426
3 5,/37 2,680 2,657 6,525 7,520 2,436 5,098 5,290 7,256 3,26/
4 2,028 2,6/ 0 2,0/ 6 -4,/ 93 5,630 2,583 3,860 6,273 §,630 72,3/ 8
5 VAR/va4 -85,392 3,407 2,465 2,320 #,209 7,648 6,/59 /, 689 Z,623
6 3,502 2,58/ 3,670 6,78 7,244 8,957 5,307 5,609 &£,943 §. 47/
7 §,X76 5,278 5,274 2,609 5,468 6,/08 &,/ 26 - 2,457 3,750 -4,73/
8 5,43/ -2,/07 7,863 2,872 5,725 4,02/ 8%,/ 720 -8, L4 9 /643 3,852/
=]

No| 11 12 13 12 15 16 17 B 19 20

1 7,/ 69 5,780 6,7 /0 46,237 2,643 VAR/A74N /,206 L,7RE 6,570 /798
2 2,/ 84 7,284 3,46/ 9 5,/ 94 $£,/09 Y872 3,2/ 0 72,8509 §, 564 -2,506
3 L,/ 57 -4,/ 26 4,269 6,842 7,684 7,0/ 3 &§,/73 2,736 2,8/ 9 -3,/ 42
4 2,/ 86 -5,/ 46 2,703 -/,346% 2,4/ 8 /378 5,627 -/, 534 2,607 3,076
5 6,837 5.5/7 3,74 2,487 5,39/ 2,872 2,48/ 2,728 2,397 -9,/ 4
6 7,.5/3 6,238 2.4/ 8 §,0/ 6 &,/ 26 7,304 5,948 -7,638 72,03/ 5,856/
7 2,237 £,5253 4,529 —7,625 2,/ 32 -2,.8/ 4 §,6/2 —6,4/9 2,750 /758
8 6,708 — 6,743 /, 276 7,538 2,2/ 6 4,830 5,934 8,54 7,936 §, 749
9 %2,/09 -/, 50 7,852/ -/, 5679 3,569 5,362 Y, 720 6,/ 857 8§,/ 4 7,260
10 6,478 2,5/ 6 5,064 —2,3468 3,6/ 2 /., 807 AR/ 2,674 2,326 2,/ XY
11 /348 5,725 2,73/ 2,025 2,463 — 6,349 4,068 2,56 2,702 5,53/
12 5,/ 35 3,/ 4 7,095 2,578 /X977 —-2,054 5,708 2,836 /, 306 7,563
=}

No| 21 22 23 24 25 26 27 78 29 30

1 L3, 847 28,06R 72,535 55,062 30,58 50,39/ L3,607 /5,485 S/, 278 RE,7 /3
2 V73458 20,526 bR, 572 —69,37R 5,0/ =97, 432 $48&,7 /85| —486,509 50,639 57,42/
3 5/,406 5,2/ 3 /8,374 50,38/ 546,398 bR,7 /8 2/,6858 2/,603 /4,067 /3,824
4 §9,3/0 /2,68 Y 5&,/40 /8,093 2/, 8532 /3, REY £7,052 —37,8509 R/YL25 —E65,740
5 ZO,738| —43,/26 V7E LS —6/,273 72,7/ R 28,456 58,06/ S/,650 YRS 38,204
6 7/, 3XE| —40,795 SR, 483 23,5L8 (3,870 76,9/ 2 58,732 /6,072 Y$/,658 E§/, 247
7 50,/ 46 S4,L/E 285,42/ 7,803 /7,625 —923,402 §$42,780 /2,652 2,709 —42,5467
=]

No| 31 32 33 34 35 36 37 38 39 20

1 62,/ 74| 46,05/ §7.62/| $2.643| 0.4/ 4/.968| 42.736| /0.243| 37.269| 42./73
2| su.703| 58,770 2/.706| 27706 s2.854| —83.720| /4690 48.2/6| 2.086| -/ 4,938
3| ss./70| —-9s8.203| 49,652 2,650 ve.583| ss./09| ss.uas| -s0.7¢4| sov24| 42,587
4 83.6/5| va.6s4| v9.04/| 23.847| 36,792 —86.35/| 6/.935| 2/.093| 68./08| -92.6/4
5| 95,704 ¢a.s04| v2.650| —49.652 49.¢/0 vs.04¢| v4.685| 95.727| §85.657| —95.452
6 | 9s.403| -95.704| s52.8/7| w0738 s59.2¢5| vs.524| /7285 —v4.293| 2/.048| 98,726
7 3/,257 78,/ &Y VYR S/, 406 2,2/ 8| —4/,350 37,08 —392,580 THRE S 5/, 874
8 22,68 Y% TR2408 SE,049 73,458 26,/ 32 JY4,308 /b, 345 /5,360 57,304 72,8540
9 78/ YL =3 /,257 7/,6X2 =79,04/ 5,879 24,056 53,208 SL,ET7S /5,63Y% §4L,607
10 72,408 S4,/03 53,768 §2,3/0 26,740 78,725 RE,O4 L YAV R/ N4 52,368 $75,2/8
=}

No| 41 42 43 44 25 46 47 8 49 50

1| 24.696| 5/.692| 96.460| 67.902| 67.653| 46.628| /6.4589| #4/.725| 26.458| 49.5/3
2| 75,739 63085 ss5.725| ss.0/2| s5.769| 49.582| s9.865| suvs2| s/.596| —-89.537
3| so0.0/8| —28./67| rw263| s4.6/3 25./7¢| s8.60/| 96,057 —s2.675| v0.636| 0,964
4 36,2/ 9 592,38/ 25,0/ &6 =7/,624 25,854 5§85,/ 32 73,94/ 27,308 Y0,268 §7, 469
5 X/, 205 24,38 & THL,I7RE §3,450 § 7,237 52,476 37,86/ =82,/ 59 /7,6 4R S4,857 5
6 70,4/ 2 X7, 945 SéE, 854/ 25,/ 76 §5,097 —2/,26%5 74,230 X3, 5928 3,786 LY, 6857
7 26,730 /5,820 35,629 24,567 75,9/8 52,34 /6,395 /5,876 §é,/ 74 73,8576
8 72,65/ —b64,527 §7,7L4 —&2,/58 £E3,72/ —69,/57 58,374 28,054 /ST, 3R =40,/ 34
9 26,438 72,5852 7,453 47,8560 27,685 =25, 856/ YR,67285 —R4,206 LYL, /50 37,525
10 57, /46 =73,0446 70,673 LL /75 3,56/ 58,9736 THLEPS| =R/, 476 X577/ S ZE,79R
11 /S ERSY| —45,/86 8, L7/ —38,4/ R 72,093 §6,045 X7, 306 —XLE, 308 §E, 540 =/ 6,473
12 39,/ 60 SO,/ 47 78,250 /2,37 /7,049 TR, 3 §6,50/ /743 &/, 264 R,/ LS
13 6,2/ 8 2/,268 /2,324 0,784 &/, 85857 —45,798 Y 5,687 /Y EPE YELE?l =/ 92,70
14 L2, 357 55,096 55,290 27,6/ 5 /5,830 —&62,657 25,623 §6,27 5 §7,5L6 7/,8509
15 $2ES/ 7 —78,359 S 2L TE| —RE,ET P 7EHLE/ 25,267 2,703 S4,07/ 39,704 —&£7,084
=]
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791,520 382,262,514 7,143 59,807 41,188 140,907
2,215,668 842,124,387 3,724 96,547 3,664 397,832
3,544,970 590,933,140 3,965 54,693 45,575 88,141
6,604,488 576,118,260 6,325 13,768 30,083 266,789
1,324,878 96,287,626 4,153 46,178 43,964 102,104
2,022,246 6,288,496,806 5,967 58,423 22,459 706,779
3,042,582 1,481,174,358 3,984 17,586 46,748 218,327
1,725,336 324,222,096 1,583 38,461 14,994 580,939
825,213 1,118,146,372 4,136 83,641 37,720 253,873
1,236,172 2,221,535,316 6,397 58,713 17,013 647,094
45,077,942 1,748,386,784 3,952 26,750 72,997 243,203
80,562,768 1,012,060,566 8,543 39,127 36,394 412,263
20,465,555 1,692,684,345 1,479 97,813 67,829 77,417
5,680,584 1,290,028,740 5,327 41,389 42,987 515,109
8,875,827 7,985,204,240 8,319 18,563 63,027 244,721
29,221,108 ([51,720,112,680 4970 372,864 19,054 811,237
47,537,120 (38,218,218,835 1,763 324,098 70,930 299,387
62,866,752 [49,252,845,350 2,978 981,352 33,279 979,222
53,898,390 [18,339,544,314 1,893 564,371 70,202 434,228
38,144,834 [15,272,091,628 9,105 942,537 21,092 922,518
96,253,300 3,222,922,068 85,421 215,406 400,233 279,347
417,505,100 | 6,731,092,436 32,847 750,826 187,082 828,520
612,197,880 | 4,647,414,223 68,743 293,156 433,775 225,976
107,221,052 | 8,997,752,946 69,271 152,037 184,222 779,922
338,731,080 [36,236,588,790 19,745 357,018 335,054 151,013




